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Sample Problems 
 

 
 

Another way to calculate:  E0
cell = E0

SRP + E0
SOP … negate the oxidation 

SRP.   E
0

cell = E0
SRP (Zn) + E0

SOP (Cr) =  -0.76 V + 0.74 V = -0.02 V 
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Another way to calculate:  E0
cell = E0

SRP + E0
SOP … negate the oxidation 

SRP.   E
0

cell = E0
SRP (Co) + E0

SOP (Fe) =  -0.28 V + 0.44 V = +0.16 V 
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Cu(s) →  Cu+2(aq)  +  2e-    

2Ag+(aq) +  2e-   →  2Ag(s) 
________________________________________________________ 

Cu(s) + 2Ag+(aq) →  Cu+2(aq) + 2Ag(s) 

 

Notice that copper is oxidized (because it is the more active metal) and will 

reduce the silver. 
 

 
Another way to calculate:  E0

cell = E0
SRP + E0

SOP … negate the oxidation 

SRP.   E
0

cell = E0
SRP (Cu) + E0

SOP (Al) =  +0.34 V + 1.66 V = +2.00 V 

 

Aluminum is a more active metal than copper so aluminum will be oxidized 

and will reduce the copper. 
 

 
Another way to calculate:  E0

cell = E0
SRP + E0

SOP … negate the oxidation 

SRP.   E
0

cell = E0
SRP (Ag) + E0

SOP (Cu) =  +0.80 V – 0.34 V = +0.46 V 

 

Copper is a more active metal than silver so copper will be oxidized and 

will reduce the silver. 
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17. 2Al+3(aq) +  3Mg0(s)   →  2Al(s)  + 3Mg+2(aq) 

Oxid ½ rxn:   3[Mg0 → Mg+2 + 2e-] 

Red ½ rxn:  2[Al+3 + 3e- → Al0] 

 

E0
cell = E0

SRP + E0
SOP … negate the oxidation SRP.    

E0
cell = E0

SRP (Al) + E0
SOP (Mg) =  +2.37 V + (-1.66 V) = +0.71 V 

This is a spontaneous reaction. 

 

Magnesium is a more active metal than Aluminum so magnesium will be 

oxidized and will reduce the aluminum. 

 

18. 2Li(s) +  Mg+2(aq)   →  Mg(s)  + 2Li+(aq) 

Oxid ½ rxn:   2[Li0 → Li+ + e-] 

Red ½ rxn:  Mg+2 + 2e- → Mg0 

 

E0
cell = E0

SRP + E0
SOP … negate the oxidation SRP.    

E0
cell = E0

SRP (Mg) + E0
SOP (Li) =  -2.37 V + 3.05 V = +0.68 V 

This is a spontaneous reaction. 

 

Lithium is a more active metal than magnesium so lithium will be oxidized 

and will reduce the magnesium. 
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